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Their intention is for the increase - KON ITNYT

Overview'
nooIn discusses under which circumstances is X112°VX 177°°ny7 relevant (in the case
where the 2"17v2 said ‘three’ and the agent said ‘four’).
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The x23 is only discussing a case where the agent said to the workers "y as9ow -
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For if the agent told the workers 2''77v2 by ao9ow, what difference is there if we

assume (that 2"7Y2 92KRY 1M means) RMPR WINPT, or if we assume (that it means),
‘we believe you that this is what the 2"7v2 said™ -
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Since in any event the 2''77w2 will only pay what he stipulated; three. This is the
view of the 3'' and also the 1.

Summary
The Xvwd of the X3 (and certainly the following query) is only in the case of

DY 05DV,

Thinking it over

In the case of *%v 0270w, which of the two interpretation of '2"7va aRwY 1?33',5 1S
more appropriate; that ‘we believe you this is what the 2"7v2 said’, or ‘if the 2"7v2
said more, we want the higher wage’?°

' See ‘Overview’ to previous 2°IX1 717 ‘010,

? Therefore since he said *>v 0312w and when they said 2"7y2 I9Xw 75 they meant X"2°9x, therefore the agent will be
required to pay them the extra 17 from his own pocket.

? This is not like %ny7 7"7 >"w79 who maintains that we may be discussing a case of 2"7w2 %y 0275w and it is
relevant regarding nmyn. However nvoin (presumably) maintains that since this Xvw»s is an introduction to the
subsequent query (in a case where the 2"7v2 said '72 and the m°%w said 'x2), where the issue is regarding payment
only (not regarding nva17vn), therefore we should assume that the introductory case of Xvw» is also only regarding
payments, but not N11vN.

* See previous °1X1 7"7 'on TIE footnote # 5.

> See previous 2°1X1 71"7 o0

® See 2% PXa.
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